## **International Journal of Current Advanced Research**

ISSN: O: 2319-6475, ISSN: P: 2319-6505, Impact Factor: 6.614 Available Online at www.journalijcar.org Volume 11; Issue 06 (B); June 2022; Page No.1111-1114 DOI: http://dx.doi.org/10.24327/ijcar.2022.1114.1248



# **ON NON- HOMOGENEOUS QUINTIC DIOPHANTINE EQUATION WITH FIVE UNKNOWNS**

 $2(x-y)(x^{3}+y^{3}) = 4^{n}(z^{2}-w^{2})T^{3}$ 

## Vidhyalakshmi S and Gopalan M.A

Department of Mathematics, Shrimati Indira Gandhi College, Affiliated to Bharathidasan University, Trichy-620 002, Tamil Nadu, India

#### ARTICLE INFO

### ABSTRACT

Article History: Received 12th March, 2022 Received in revised form 23rd April, 2022 Accepted 7<sup>th</sup> May, 2022 Published online 28<sup>th</sup> June, 2022 The non-homogeneous quintic diophantine equation with five unknowns given by  $2(x-y)(x^3+y^3) = 4^n(z^2-w^2)T^3$  is analyzed for its non-zero distinct integer solutions.

#### Keywords:

Quintic equation with five unknowns, Non-Homogeneous quintic, Integral solutions.

Copyright©2022 Vidhyalakshmi S and Gopalan M.A. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

### INTRODUCTION

The Diophantine equations are rich in variety and offer an unlimited field for research [1-3]. In particular refer [4-14] for a few problems on Biquadratic equation with 2, 3,4 and 5 unknowns. In [15-19], problems on quintic equations with three and five unknowns are analysed for their corresponding integer solutions. This paper concerns with yet another interesting non-homogeneous quintic diophantine equation with five variables given  $2(x-y)(x^{3}+y^{3}) = 4^{n}(z^{2}-w^{2})\Gamma^{3}$  for determining

its infinitely many non-zero distinct integral solutions.

#### Method of Analysis

The non-homogeneous quintic diophantine equation with five variables under consideration is

$$2(x-y)(x^{3}+y^{3}) = 4^{n}(z^{2}-w^{2})T^{3}$$
(1)

The process of obtaining non-zero distinct integer solutions to (1) are illustrated below:

Illustration 1:

Introducing the linear transformations

$$x = 4^{n} (u + v), y = 4^{n} (u - v), T = 4^{n} v, z = 2u + v, w = 2u - v, u \neq v$$
(2)

in (1), it reduces to the equation

\*Corresponding author: Vidhyalakshmi S Department of Mathematics, Shrimati Indira Gandhi College, Affiliated to Bharathidasan University, Trichy-620 002, Tamil Nadu, India

$$u^2 + 3v^2 = v^3$$
(3)

whose solutions may be taken as

$$v = Q^2 + 3, u = Q(Q^2 + 3)$$
 (4)

In view of (2), the corresponding integer solutions to (1) are given by

$$x = 4^{n} (Q^{3} + Q^{2} + 3Q + 3)$$
  

$$y = 4^{n} (Q^{3} - Q^{2} + 3Q - 3)$$
  

$$T = 4^{n} (Q^{2} + 3)$$
  

$$z = (2Q^{3} + Q^{2} + 6Q + 3)$$
  

$$w = (2Q^{3} - Q^{2} + 6Q - 3)$$

Note:1

Apart from (2), one may consider the following transformations 

$$x = 4^{n} (u + v), y = 4^{n} (u - v), 1 = 4^{n} v, z = u + 2v, w = u - 2v, u \neq v$$
$$x = 4^{n} (u + v), y = 4^{n} (u - v), T = 4^{n} v, z = 2uv + 1, w = 2uv - 1, u \neq v$$

leading to two different solutions to (1).

Illustration 2:

Introducing the linear transformations

(5)

 $x = 4^{n}(u+v), y = 4^{n}(u-v), T = 4^{n}u, z = 2u+v, w = 2u-v, u \neq v$ in (1), it reduces to the equation

$$u^2 + 3v^2 = u^3$$
(6)

whose solutions may be taken as

$$v = Q(3Q^2 + 1), u = 3Q^2 + 1$$
 (7)

In view of (5), the corresponding integer solutions to (1) are given by

$$x = 4^{n} (3Q^{3} + 3Q^{2} + Q + 1)$$
  

$$y = 4^{n} (-3Q^{3} + 3Q^{2} - Q + 1)$$
  

$$T = 4^{n} (3Q^{2} + 1)$$
  

$$z = (3Q^{3} + 6Q^{2} + Q + 2)$$
  

$$w = (-3Q^{3} + 6Q^{2} - Q + 2)$$

#### Note:2

Apart from (5),one may consider the following transformations  $x = 4^{n}(u + v), y = 4^{n}(u - v), T = 4^{n}u, z = u + 2v, w = u - 2v, u \neq v$  $x = 4^{n}(u + v), y = 4^{n}(u - v), T = 4^{n}u, z = 2uv + 1, w = 2uv - 1, u \neq v$ 

leading to two different solutions to (1).

Illustration 3:

Introducing the linear transformations

$$x = 4^{n}(u + v), y = 4^{n}(u - v), T = 4^{n}P, z = 2u + v, w = 2u - v, u \neq v$$
(8)

in (1), it is written as

$$u^2 + 3v^2 = P^3 = P^3 * 1$$
 (9)

Assume

$$\mathbf{P} = \mathbf{a}^2 + 3\mathbf{b}^2 \tag{10}$$

Write 1 on the R.H.S. of (9) as

$$1 = \frac{(1 + i\sqrt{3})(1 - i\sqrt{3})}{4} \tag{11}$$

Substituting (10) & (11) in (9) and employing the method of factorization, consider

$$u + i\sqrt{3}v = \frac{(a + i\sqrt{3}b)^3 (1 + i\sqrt{3})}{2}$$
(12)

Equating the real & imaginary parts in (12), the values of u and v are obtained.

Since our interest is on finding integer solutions, replace a by 2A ,b by 2B in the above resulting values of u, v and (10).In view of (8), the corresponding integer solutions to (1) are as follows:

$$x = 4^{n+1} * (2A^{3} - 18AB^{2} - 6A^{2}B + 6B^{3}),$$
  

$$y = 4^{n+1} * (-12A^{2}B + 12B^{3}),$$
  

$$T = 4^{n+1} * (A^{2} + 3B^{2}),$$
  

$$z = 4(3A^{3} - 27AB^{2} - 15A^{2}B + 15B^{3}),$$
  

$$w = 4(A^{3} - 9AB^{2} - 21A^{2}B + 21B^{3}),$$
  
Note 12

Note :3

In addition to (11),1 on the R.H.S. of (9) may expressed as below:  $(1 - \frac{1}{2} + \sqrt{2})(1 - \frac{1}{2} + \sqrt{2})$ 

$$1 = \frac{(1+i4\sqrt{3})(1-i4\sqrt{3})}{49},$$
  

$$1 = \frac{(11+i4\sqrt{3})(11-i4\sqrt{3})}{169},$$
  

$$1 = \frac{(11+i5\sqrt{3})(11-i5\sqrt{3})}{196},$$

Following the above analysis, one has three more sets of integer solutions to (1).

#### Illustration 4: Introducing the linear transformations

 $x = 4^{n}(u + v), y = 4^{n}(u - v), T = 4^{n}P, z = 8u + v, w = 8u - v, u \neq v$ (13)

in (1), it is written as

$$u^2 + 3v^2 = 4P^3$$
(14)

Write 4 on the R.H.S. of (14) as

$$4 = (1 + i\sqrt{3})(1 - i\sqrt{3}) \tag{15}$$

Substituting (10) & (15) in (14) and employing the method of factorization, consider

$$u + i\sqrt{3}v = (a + i\sqrt{3}b)^3 (1 + i\sqrt{3})$$
 (16)

Equating the real & imaginary parts in (16), the values of u and v are obtained.

In view of (13), the corresponding integer solutions to (1) are as follows:

$$x = 4^{n} * (2a^{3} - 18ab^{2} - 6a^{2}b + 6b^{3}),$$
  

$$y = 4^{n} * (-12a^{2}b + 12b^{3}),$$
  

$$T = 4^{n} * (a^{2} + 3b^{2}),$$
  

$$z = (9a^{3} - 81ab^{2} - 69a^{2}b + 69b^{3}),$$
  

$$w = (7a^{3} - 63ab^{2} - 75a^{2}b + 75b^{3})$$
  
Illustration 5:  
Introducing the linear transformations

Introducing the linear transformations

$$x = 4^{n}(u + v), y = 4^{n}(u - v), T = 4^{n}v, z = 8u + v, w = 8u - v, u \neq v$$
(17)

in (1), it reduces to the equation

$$u^2 + 3v^2 = 4v^3$$
(18)

whose solutions may be taken as

$$\mathbf{v} = \mathbf{k}^2 \pm \mathbf{k} + 1, \mathbf{u} = (\mathbf{k}^2 \pm \mathbf{k} + 1)(2\mathbf{k} + 1)$$
(19)

In view of (17), the corresponding integer solutions to (1) are given by  $A^{(1)}(1)^{2} + 1 + 1 > (21 + 2)$ 

$$x = 4^{n} (k^{2} \pm k + 1)(2k + 2)$$
  

$$y = 4^{n} (k^{2} \pm k + 1)(2k)$$
  

$$T = 4^{n} (k^{2} \pm k + 1)$$
  

$$z = (k^{2} \pm k + 1)(16k + 9)$$
  

$$w = (k^{2} \pm k + 1)(16k + 7)$$

Illustration 6:

Introducing the linear transformations

$$x = 4^{n}(u + v), y = 4^{n}(u - v), T = 4^{n}u, z = 8u + v, w = 8u - v, u \neq v$$
(20)

in (1), it reduces to the equation

$$u^2 + 3v^2 = 4u^3$$
 (21)  
whose solutions may be taken as

$$u = 3k^{2} \pm 3k + 1, v = (3k^{2} \pm 3k + 1)(2k - 1) (22)$$

In view of (20), the corresponding integer solutions to (1) are given by  $\frac{1}{2} \left( 2L^{2} + 2L + 1 \right) \left( 2L \right)$ 

$$x = 4^{n} (3k^{2} \pm 3k + 1)(2k)$$
  

$$y = 4^{n} (3k^{2} \pm 3k + 1)(2 - 2k)$$
  

$$T = 4^{n} (3k^{2} \pm 3k + 1)$$
  

$$z = (3k^{2} \pm 3k + 1)(2k + 7)$$
  

$$w = (3k^{2} \pm 3k + 1)(-2k + 9)$$

### CONCLUSION

An attempt has been made to obtain non-zero distinct integer solutions to the non-homogeneous quintic diophantine equation with five unknowns given by  $2(x - y)(x^3 + y^3) = 4^n(z^2 - w^2)T^3$ . One may search for other sets of integer solutions to the considered equation as well as other choices of the fourth degree diophantine equations with multivariables.

#### References

- 1. Dickson L.E, History of Theory of Numbers, vol 2, Chelsea publishing company, New York, (1952).
- 2. Mordell L.J, Diophantine Equations, Academic press, London, (1969).
- 3. Carmichael R.D, The Theory of numbers and Diophantine analysis, New York, Dover, (1959).

- 4. Gopalan M.A. and Anbuselvi R, (2009), Integral solutions of binary quartic equation,  $x^3 + y^3 = (x y)^4$  reflections des ERA-JMS, Vol 4 issue 3, 271-280
- 5. Gopalan M.A and Janaki.G, (2009), Observation on $(x^2 - y^2)4xy = z^4$ , Acta ciencia Indica, Vol XXXVM, No.2,445
- 6. Gopalan M.A, Geetha V, (2013), Integral solutions of ternary biquadratic equation  $x^2 + 13y^2 = z^4$ , IJLRST, Vol 2, issue2, 59-61
- 7. Gopalan M.A, Vidhyalakshmi S, Kavitha A, (2013), Integral points on the biquadratic equation  $(x + y + z)^3 = z^2(3xy - x^2 - y^2)$ , IJMSEA,Vol 7, No.1, 81-84
- 8. A.Vijayasankar, Sharadha Kumar, M.A.Gopalan, "A Search For Integer Solutions To Ternary Bi-Quadratic Equation  $(a+1)(x^2+y^2)-(2a+1)xy = [p^2+(4a+3)q^2]z^4$ ", EPRA(IJMR), 5(12), Pp: 26-32, December 2019.
- 9. Vidhyalakshmi, S., Gopalan, M.A., Aarthy Thangam, S. and Ozer, O., On ternary biquadratic diophantine equation  $11(x^2 - y^2) + 3(x + y) = 10z^4$ , NNTDM, Volume 25, No.3, Pp 65-71, 2019.
- 10. A. Vijayasankar, Sharadha Kumar, M.A. Gopalan, "On Non-Homogeneous Ternary Bi-Quadratic Equation  $x^2 + 7xy + y^2 = z^4$ ", Compliance Engineering Journal, 11(3), Pp:111-114, 2020.
- 11. A.Vijayasankar, Sharadha Kumar, M.A.Gopalan, "On Non-Homogeneous Bi-Quadratic Equation with four Unknowns  $x^4 + y^4 + (x - y)z^3 = 2(k^2 + 3s^2)^2 w^2$ , Special Issue on Recent Research Trends in Management, Science and Technology, Pp:1570-1572, August 2021.
- 12. Gopalan M.A, Vidhyalakshmi S and Premalatha E, (2014), On the homogeneous biquadratic equation with 5 unknowns  $x^4 y^4 = 8(z + w)p^3$ , IJSRP, Vol 4, issue1, 1-5
- 13. Gopalan M.A, Usharani T.R, Vidhyalakshmi S, (2015), Integral Solutions of Homogeneous Bi-quadratic equation with five unknowns  $2(x^2 - y^2)(2(x^2 + y^2) - 3xy) = 11(z^2 - w^2)T^2$ , IJIRR, Vol 2, Issue 1, 284-288
- 14. Vidhyalakshmi S ,Gopalan M A,On Homogeneous Biquadratic Diophantine Equation With Five Unknowns  $x^4 - y^4 = 5^{2n} (z^2 - w^2)T^2$ ,IJEI ,vol 11,issue 3.293-298.2022.
- 15. Gopalan, M.A. and Vijayashankar, A., An Interesting Diophantine problem  $x^3 - y^3 = 2z^5$ , Advances in Mathematics, Scientific Developments and Engineering Application, Narosa Publishing House, Pp 1-6, 2010
- 16. Gopalan, M.A. and Vijayashankar, A., Integral solutions of ternary quintic diophantine equation  $x^2 + (2k+1)y^2 = z^5$ , *International Journal of Mathematical Sciences*, 19(1-2), Pp 1695-1696, Jan-June 2010.
- 17. Gopalan, M.A. and Vijayashankar, A., Integral solutions of non-homogeneous quintic equation with

five unknowns  $xy - zw = R^5$ , Bessel J.Math., 1(1), Pp 23-30, 2011.

18. Vijayasankar, A, Sharadha Kumar, Gopalan, M.A "On The Non-Homogeneous Quintic Equation With Five Unknowns  $3(x+y)(x^3-y^3)=7(z^2-w^2)p^3$ , Research Inventy: *International Journal of Engineering And Science*,10(8), Pp: 44-49, August 2020.

#### How to cite this article:

Pavani Kiranmayi Munagala *et al* (2022) ' On Non- Homogeneous Quintic Diophantine Equation with Five Unknowns  $2(x - y)(x^3 + y^3) = 4^n(z^2 - w^2)T^3$ ', *International Journal of Current Advanced Research*, 11(06), pp. 1111-1114. DOI: http://dx.doi.org/10.24327/ijcar.2022.1114.1248

19. Vijayasankar, A, Sharadha Kumar, Gopalan, M.A."On

 $(x^4 - y^4) = 125(z^2 - w^2)p^3$ , South East Asian

J.of Mathematics and Mathematical Sciences ,18(1), Pp:

Quintic

Equation

Non-Homogeneous Quinary

27-34, 2022.

\*\*\*\*\*\*